
qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1 ;'rgf kf6L, ;'emfj k]6Lsf, j8fkq j8f g ! 45,180         √ j8f 0

2 ljlQo cg'zf;g ;DaGWfL n]vf tflnd j8f g @ 17,800         √ j8f 0

3

j8f leq sfo{/t pTs[i7 sd{rf/Lx?, 

:j+od;]ljsfx?, lzIs tyf ljwfyL{x?nfO{ 

k|f]T;flxt ug]{ j8f g !) 150,000        √ j8f 0

hDdf 212,980       0

qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1

;+Grf/, Pkm Pd, ;'rgf k|;f/0f, 

kqklqsf 5kfO{, vr{ j8f g @ 17,800         √ j8f 0

2 ;'rgf d'ns /]l8of] sfo{qmd sfof{kflnsf 400,000       √ gu/ 0

hDdf 417,800       0

1 ;/e/ sDk'6/ h8fg sfof{kflnsf 500,000       √ gu/ 0

2 O xflh/L -ljwfnodf+_ ;j} j8f 200,000       √ gu/ 0

3 OG6/g]6 h8fg-afFsL j8f_ 400,000       √ gu/ 0

4 l8lh6n ;'rgf kf6L sfof{kflnsf 200,000       √ gu/ 0

hDdf 1,300,000     

s'n hDdf 1,717,800     

qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1

k'/fgf] nut n]vg, k|df0fLs/0f ;+/I0f / 

Joj:yfkg j8f g @ 20,000         √ j8f 0

2 kl~hs/0f Jofj:yfkg tyf tflnd sfof{kflnsf 350,000        √ gu/ 0

hDdf 370,000       0

qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1 ;'zf;g tyf ;+:yfut ljsfz tkm{ j8f g $ 20,000         √ j8f 0

2 ;fj{hlgs ;'gjfO{, ;'rgf d'ns ;+rf/ j8f g % 36,980          √ j8f 0

3 gful/s j8fkq n]vg tyf Jofj:yfkg j8f g ^ 45,760         √ j8f 0

4 ;fj{hlgs ;'gjfO{, ;j} j8fdf, sfof{kflnsf 300,000       √ gu/ 0

hDdf 402,740      0

qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1

j8fsf] sfo{qmd ;+rfngsf nflu-;'rgf, 

kJnLs cl86_ j8f g % 36,980          √ j8f 0

2 /fhZj kl/rfng ahf/ cg'udg j8f g ^ 45,760         √ j8f 0

3 /fhZj p7fpg hgzlQm kl/rfng j8f g @ 20,000         √ j8f 0

4

Goflos ;ldlt dfkm{t !) j6} j8fdf 

d]nldnfk ;ldlt u7g tyf Ifdtf 

clej[4L sfof{kflnsf 400,000       √ gu/

5 j8f k|f]kmfOn lgdf{0f j8f g ( 150,000        √ j8f 0

hDdf 652,740       0

1 jhf/ If]qdf ;L ;L l6 le h8fg sfof{kflnsf 310,640        √ gu/ 0

2 ldl6ª xn Joj:yfkg sfof{kflnsf 200,000       √ gu/ 0

3 c8/ l;lnk tof/L sfof{kflnsf 100,000       √ gu/ 0

hDdf 610,640       

s'n hDdf 1,263,380      
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